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1 = HIGHLY ERODIELE LAND FOTENTIALLY HIGHLY ERODIELE
2 = POTENTIALLY HIGHLY ERODIERLE LAND CACULATOR VER 1.1
o= NOT HIGHLY ERODIRBLE WIND EROSIION | WATER  EROSITON
MAF C I HEL R b T SLOFE- FERCEN SLOPE-~LENGTH .5~ VALUE HE
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Q7200043 43 CUT AND FILL LAND 1 100 0,2 180 100 4OOERRIR ERRIR ERROR ERRID
OTP00047 4% FITS AND QUARRIES 1 100 0.3 150 100 400ERROR ERR ERROR ERRD
Q7TPQ0O0E0 EO BODIES OF WATER £ 1 [ 160 100 - ERROR ERRD
QTIAG AG ALLUVIAL LAND 1 Q.2 150 L 0 1] 100 X . : P
O72ALE ALE ALVIRA 1 Q. 150 et = = F
O72ANE ANE ALVIRA 1 Q.3 150 3 0 5] 100 =
Q7T 7ARDE ARE ARNOT 1 (= 180 = 0 = =
QTPARE ARE ROCE QUTCROF Z 150 o = 100 s 1. 9RZERROR ERRO
O7TZARD ARD ARNDOT i 160 Q.17 et = b 100 1
O7YARD ARD ROCE QUTCROF = 150 = 25 100 i LTS0ERROR ERRD
Q7TASF ARNOT 1 . 180 Q.17 b 28 70 100 1
O7T7ABF ROCE QUTCROF = 150 =F 70 100 ERRC
OTIAT ATHERTON VARIANT 1 100 150 0.37 ] (o] = 100 3
Q7 2EF EASHER 1 100 150 0,32 =) &} = 100 e
O7TZERER EATH 1 100 180 Q.24 3 2 ] 100 400 =
Q7T2EEC EATH 1 100 Q.3 150 O.24 3 ] 158 100 400 EL.119 0,467 1
J QTYEED BATH 1 100 (= 180 0.24 3 15 5 100 400 aanT 1
O77ENE EATH 1 100 Q.8 150 0.Z24 = = = 100 400 &7 =
QO7ZEND BATH 1 100 0.2 Q.24 ] 2 8 100 400 X e 1
OT9ERA BRACEVILLE 1 100 0.8 Q0.2 3 0 ! 100 400 0,069 200 3
Q7TYERE ERACEVILLE 1 100 0.2 Q.2 b e B 100 400 O.287 =
O7TIRRC ERACEVILLE 1 100 Q.3 0.2 = = 15 100 400 Q.991 1
QOTIEUE EUCHANAN 1 100 Q.8 Q.24 K] 3 2 100 400 0.2=27 et
QTPEHE EUCHANAN 1 100 0.2 I e = 100 400 0,287 =
O79EXD BUCHANAN 1 100 Q.8 2 2 b 100 400 0,291 11,730 1
O72CHA CHENANGO 1 100 0.2 ] ] 2 100 400 0,047 0. 435 o
O7T9CHR CHENANGD 1 100 Q.2 2 3 2 100 400 0,287 1.92 =
OT9CHC CHENANG 1 100 0.2 e = 15 100 400 0,921 [ 1
O79CLA CHIFFEWA 1 100 0.2 3 ] ] 100 400 F00 ]
O79CLB CHIPFEWA 1 100 O.& i Il 2 100 400 : BOO  E
QT9CNE CHIFFEWA 1 100 0.2 . 2 Q = 100 400 1.982 EinT =
O79DDE DEKALE 1 100 0.5 0.17 Z O 2 100 400 1. 9EE b
O79DDD DEKALE 1 100 0.8 0.17 Z = Z8 100 400 11.720 1
O79DDF DEKALE 1 100 [« I%: 0.17 b 25 20 100 400 &a, TES aE 1
QTIHO HOLLY 1 100 0.8 42 Q.22 1] (&} 3 100 400 0. 435 DR i
O7T9EDE FEDRON 1 100 0.3 O.24 ] 3 2 100 400 1.982 aAT Z
FEDRON 1 100 0.2 0,24 = = 15 100 400 E.119 ] 1
Q7T9KER FEDRON 1 100 0.2 0,24 ] k] = 100 400 1,982 &
Q7T9REC EEDRON 1 100 (9= 0.24 b 2 20 100 400 1
Q7 IHWE FEDRON 1 100 ol 0.24 ke o] = 100 400 =
Q72K KE FEDRON 1 100 0.8 Q.24 3 Q ] 100 400 0,069 =
' ' O72LAE LACKEAWANNA 1 100 0.2 e b 3 100 400 0,287 0.871 =
O7TILAC LACH AWANNA 1 100 Q.2 ] =] 15 100 400 0,991 0.BT1 1
Q7TYLAD LACE AIWMANNA 1 100 Q.2 e 15 =28 100 400 Z2.857 11,720 0,871 1
O7TYLCE LACKAKANNA 1 100 0.8 0.2 3 3 & 100 400 Q0.Z287 - 1.922 Qu&4T z
OTPLCD LACEAWANNA 1 100 Q.3 0.24 3 ] 5 100 400 0,991 11.780 ; 1
O7T2LEF LACKAWANNA 1 &0 0.2 0.24 = =5 =50 100 400 5,890 35,4646 1
QT9LEF LEF EATH £ 20 0.2 Q. E 3 e 45 100 400 30,400 1
O77LER LEE LECKE KILL 1 100 0,2 Q.24 3 2 o 100 400 1,982 Z
E OTPLKC LEC LECE KILL 1 100 0.2 0.2 3 ] 15 100 400 5,119 1
] O7ILKD LKD LECE KILL 1 100 Q.2 Q.24 3 15 sl 100 400 1
, O7T?LN LN LLINDEN 1 100 0.8 : 4 0 ] 100 400 3
0 O7TIMAR MAR MARDIN 1 100 Q.2 2 ] 2 100 400 z
” OTMAC MAC MARDIN 1 100 0.8 3 o 15 100 400 1
Q79IMAD MAD MARDIN 1 100 0.3 ] 15 28 100 400 11,780 0,667 1
079MCE MCR MARDIN 1 100 0.2 ! k] = 100 400 1,982 Q.6487 =
o7T¥MCD MCD MARDIN 1 100 0.2 = = 26 100 400 11,720 Q.467 1
O7TIMER MER MECKESVILLE 1 100 Q.8 4 ] o 100 400 1.982 0.762 z
O7TMEC MEC MECKESVILLE 1 100 0.8 4 = 15 100 400 .11 0,782 1




MECKESVILLE
MECKESVILLE
MECHESVILLE
STET

100
100 (419
100

W A

11,720

g

O7TYMED
OTYMFE
Q7 ¥MFD
OTYMG

Y
—
in

o0 0

E-
b

o
b

100

1

FRVIN S Bl Sk

100 41 C 100
Q7 MH STET 100 5 C 100
Q7 MM STET 100 B C 100

QTIMOR

MORRIS 100

400

Q7 YMOC MORRIS 100 : £ 400 1
O7TYMSE MORRIS 100 k C &

QTIMSC
Q7TMU
Q720LE

MORRIS
STET

100
100

o
P

1 X X I A RCA B B

P TRy Ry ]

L

ERRD

CUAGA &0 = k
Q7B LORDST O =0 = 3 k
QTG DQUAGA &0 o k] 15
Q7TPOLC LORDSTOWN 20 = = 15
O720LD UAGA &0 = 18 =5
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Q72OFE NUAGA &0 = 0.& o
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O7 250 ’ SN 100 = 0.24 k] 15
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O7TZFFD FFD 100 0.3 0.17 = £ 11,780
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100 0.5 3 Q ] 100 4Q0 Q069 VEE Q.&aT =

079vocC vac VIOLUSTA 100 Q.2 Z B 15 100 400 1

QT9VRE VRE VOLUSIA 100 O 2 o] =] 100 400 =

QTPVRC VRC VIOLUSIA 100 0.8 3 = 15 100 400 1

OT7WA WA WAYLAND 100 Q.= 1] 0 3 100 400 2

O7T?WER WEER WEIKERT &0 0.3 s e = 100 400 O =

B QOTINER WEL ELINESVILLE 20 0.8 Z 3 ] 100 400 0,82 =
Q7TWEC WEC WEIKERT &0 0.8 = 2 100 400 O, 9% 1

QOTIHNEC WEC ELINESVILLE 20 0.2 e 2 100 400 0,97 1

O7ZUWED WED WEIFERT AQ 0.8 z 15 100 400 2.5 ] 1

OTPWED WED ELINESVILLE 20 0,8 Q.2 = 15 100 400 Z. 8859 11, [ i i

. QTIWNLE WLE WEL LSRRG 100 0,2 Q.22 ] ] 100 400 0,287 1. OLETL =

R Q7IWLC WLC WELLSEORD 100 (= O 28 3 = 100 400 O.9%1 B.11% 0,871 1
QO7ZWLD WL.D WELLSROIRD 100 0.8 0,28 ] 15 100 400 Z.8BE? 11,720 0.571 1

QTUME WME WEL L SEORD 100 0.8 e = 100 400 0,287 1,982 a7 e

s Q72WMD WMD WELLSEORO 100 1= 2 o 100 400 0,991 OuaaT 1
A QOT?2URE WRE WURTSREORD 100 0.2 <] 2 100 400 0.Z87 0.571 =
Q7?PWRC WRC WURTSEORD 100 0.2 2 = 100 400 0,771 O.ET1 1

O77WRD WRD WURTSEORO 100 0.8 b 15 100 400 ZLEEY 11,780 1

OTPWTE WTER WURTSEORD 100 0.2 b k] 100 400 O ER7T 1.8 =

Q7TZWTD WTD WURTSEORD 100 (020 i = 100 400 Q.21 11,720 1

O7T7HYD WYD WYOMING 100 0.2 e 15 100 400 Z.55H9  11.7580 1

O77HYF WYF WYOMING 100 0.2 ) e a 100 400 B.270  30.400 1






